BExEResRaESwnk

o

FEAZTISIONSWIREZILGE

. SEHIENRF L. $5i81500-3500U/ (FMIT). TH# Werks-| | Typ | [Zshne| | === (T
iE AT 54 1 - min, L VHM TiN 3
SR HRE . Eﬁﬁﬁ?ﬁﬁ#!ﬁﬁﬂﬁ%biﬁrﬁﬂﬁ e 3 Ef“';"_—‘ gt
RIERERE.
|
e
d B I d,
_I_-.
o ——| PRECI (" |T
- l -
b
139815 PRECITOOL, B{EfER S E-TINRE, 3-7]
d 139815 d, (h10) I, l, d, (h&) d 139815 d, (h10) I I, d, (he)
1 IRG 1313) mim mm mim mim 1 {RG 1313) mim mim mim mim
M4 L 3.3 50 15 6 Mi12 [ ] 10,2 75 30 12
M5 & 4,2 50 15 6 Mi4 O 12,0 75 30 12
ME ® 5.0 50 15 & Mis ® 14,0 100 40 14
Ma =] 6,8 60 20 8 M18 (@ 15,5 100 40 16
M10 ] 8.5 70 25 10 M20 @ i7.5 100 50 18
R 4% & E 4% HELICOIL®plus ﬁg!!g_]lpluﬁ
A LAA:
- & 1ISO-8Rkr M
_ FEm A2 Merrischee
PER:
- HELICOIL®plus 3~ EE e 538
- WSS = M12
— HELICOIL® 7§ 860 5 FA k4t
— HELICOIL®plus 234
-EEIR= M2

139831 HELICOIL, g EER

dx 130831 P
rJ:unP:l {RG 1380) mm Ha

M2 o 0,40 8 20X M2X2 | M2x3 | M2x4
Mz.5 o 0,45 4 20x M2,5x%2,5 | M2.5%3,75 | M2,5X5
M3 L 0,50 45 20%X M3x3 | M3x4,5 | M3X6
M4 L] 0,70 48 20x Mdx4 | Mdx6 | Mdxa
M5 ] 0,80 45 20X M5X5| M5X7,5 | M5X10
MG ] 1,00 4§ 20 MBX6 | M6=8 | M= 12
Ma ] 1,25 510X MBXB | MBx12 | MBX16
M8 =1 8] 1,00 48 10X MBX1x8 | MBxX1xX12 | M8X1X16

M10 L 1,50 4§ 10X M10X10 | M10X15 | M10X20

M10=1 & 1,00 £ 10X M10X1X10 | M10x1x15 | M10%1x20

M12 ® 1,75 £ 10X M12X12 | M12x18 | M12x24

Mi121,5 O 1,50 510X M12X1,5X12 | M12X1,5X18 | M12X1,5X24

Mi4 &) 2,00 10X M14x14 | M14x21 | M14x28

M141,5 ® 1,50 10X M14x1,5X14 | M14x1,5X21 | M14x1,5%x28

M16 L] 2,00 410X M16X16| M16X24 | M16x32

M16+1,5 c 1,50 £ 10X M16X1,5X16 | M16X1,5%24 | M16x1,5%32
13/192 ® = S ST

O=#ERAII ERHE



